Equndecl notation is when You break down a number

is thousands, hundreds, tens and ones.
78/5 = 7000 + 800 + LO+5

. Write the exPoncIecl notation for the Fo"owing numbers:
[567 =

|2 Bl =

3. 3406 =

4. 2980 =

2. Colour in the equnded notations which hasn't been done

correct|8.

4 [q743:<7000+700+40+3}\
[ 9743 =9000 + 700 + 40 + 3 |

[ 5067 =5000 +100 + 60 + 7 |
[ 971=9000 +100 + 70 + 0 |
\_ [3430:3000+400+30+o]j

3. ComP|ete:
3l 3743 =3000 + + L0 +
3.2. 3030 = +30+0
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LTI x2= LTx2x6
= [Tx2x2x3
= 9% x2x3
= 188 x 3
= (I00+80 +8 x3
= 300+ 240 + 24

\ = 564

Method: Br‘eqking down numbersin factors

~

/

Caleulate the sums bg using the method above.

6/#'2 \ /53x45

~
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Br‘eqking down method:

6832 + |5/
= (6000 + 800 + 30 + 2) + (I00 + 50 + A) - Break down each number.
= (6000) + (800 + 100) + (30 + 50) + (2 + /J - Then count the thousands,,

= 6000 + 900 + 80 + 6
= 6986

hundrecls, tens and ones together.

- Count dl the answers together‘.

/

Caleulate the sums bg using the method above.

\

5362 + 246 4365 + 1552

\
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/ (Ghost, Preclict
<
He|P the Shosts to Prec:lict.

A How many sweets do you Pr‘eclict is in | bottle?

2. How many sweebs do you Pr‘eclict there are in dll the bottles

together‘?
3. Count how many sweets are in | bottle.
/P Count the total amount of sweets.
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. What is the |en8t|'1 of the Penci| in cm? C]

s )

1 2 3 4 5 6 7 8 9

2. What is the |en8th of the Penci| in mm?C]

< P y
<
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1 2 3 4 5 6 7 8 9

3. What is the |en9t|1 of the eraser in cm? C]

eraser

1 2 3 4 5 6 7 8 9

A. What is the |en3tl'\ of the eraser in mm?C]

eraser

2 3 4 5 6 7 8
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- CONVERSION BETWEEN UNITS

If You have the blg unit. work to the RIGHT

SuPer‘her‘o and multiply,
Examp|e: |cm = |Omm
clues ke = 1000 m

I = 100cm

If you have the small unit work to the LEFT
and divide.

Examp|e: |Omm = |cm
I000m = lkm
[00cm = Im

If you are wor‘king with a %

Excmp|e: 25mm = 2%cm
&skm = 6500m
3500m = 3zkm

ComP|ete the table 53 conver*ting the units.

4. 00mm cm

Sem Mmm

100m km
Dk m %
100cm 2

| Think like a 35mm
1 suPer‘her‘o / A%km

4
- ® = A
---------
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e Colour the shqpes with a flat surface Be”ow.
e Colour the shqpes with a curved and flat. surface blue.

L COlOUI" the ShOPeS Wlth Oth a CUI"VGCI SUI’"FGCG Sr‘een.
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